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OINGHAHEY SHAIIXH K& J|SR2SAIE O
AX BXxd 1,500,000
03 A& 2 0H b 3,000 0 3,000
OINGHAHEY SHAIIXIH K& J|BR2FAIE Al
A2 048I 3,000
403 XX SHHS K20l 1,000,000 1,000,000 0
02 SISO SHA =5 e A I 1,000,000 1,000,000 0
OINGHAHEY SHAIIXMH K& IS AIS 1,000,000
243 1,000,000
HHSHAH| (DA kA 91,187 87,086 4,101
| 2 Z& I 91,187 87,086 4,101
HEY =X Z | 6,900 6,900 0
203 ¥R =&H| 6,900 6,900 0
01 J|2A2HLR=AH| 3,300 3,300 0
OJ|&22d dRF=LAYH| 275,000& = 12& 3,300
04 ENSIHRF=EY| 3,600 3,600 0
ORNMEY LRF=&XH| 300,000& x12& 3,600
282 AH| 27,047 26,126 921
201 LEt2 Y| 26,547 25,626 921
01 AP 22l Yl 26,147 25,226 921
O Yet+=gH| 22,000
O] 4,147
02 =294l 400 400 0
oO332=2 2 HA 400
405 XHaHFE SHI 500 500 0
01 AL 2 EF SHI 500 500 0
od&EN Pl 500,000& *1CH 500
04 | 57,240 54,060 3,180
202 04| 57,240 54,060 3,180




2N

Ol cH & & &

M @2 QAL (QIHTSA)
chelr D123l (&)
SN FHE - B(BA) - MRAY - BHES Ol &t o4 San Hl B E2
01 = LH 4 bl 57,240 54,060 3,180
OJlege=adul 200,000& 18K x12& 43,200
O=W&Z0H 65,0003 x18H 128 14,040
MPES(0lHEEA) 8,640,000 0 8,640,000
HEAHHK = 8,640,000 0 8,640,000
MBI EEIH MES 8,640,000 0 8,640,000
701 JIEISI HSHES 8,640,000 0 8,640,000
01 JIEtSIHE &S 8,640,000 0 8,640,000
OMPLRNEZLALELESNH HES 8,640,000




